

Вычислите:

$$-\frac{3}{8} * \frac{5}{6} =$$

$$\frac{18}{55} * \left(-\frac{11}{18}\right) =$$

$$\frac{17}{40} * \left(-\frac{8}{51}\right) =$$

$$-\frac{14}{15} * \left(-\frac{3}{7}\right) =$$

$$-\frac{21}{32} * \left(-\frac{12}{35}\right) =$$

$$-\frac{15}{22} * \frac{4}{27} =$$

Не выполняя вычислений, сравните:

$$(-19)^3 \quad (-0,2)^2$$

$$-48 * 48 \quad (-48) * (-48)$$

$$17 * 17 * 17 \quad (-17) * (-17) * (-17)$$

$$(-1)^2 \quad (-1)^{23}$$

$$-125 * 125 * 125 * 125 \quad -125 * (-125) * (-125) * (-125)$$

$$193 * (-612) * 0 * 851 \quad 153 * (-476) * (-7326)$$